
Time: 10 Minutes Paper Math 4 Total Marks: 10

1st Month, 1st Week, 4th Day Syllabus: Unit 1 Review Exercise 1Q No. 1,2,3, 4

Q.No.1 Encircle the correct answer from the following choices. (5)


i. Identify place value of "4" in 4 669:

(a) 400 (b) 4 000 (c) 40 (d) 4

ii. Eight thousand seven hundred twenty is equal to: 
(a) 8 720 (b) 8 702 (c) 8 072 (d) 87 020

iii. 384 is equal to:  384

(a) Three hundred eighty four  (b) Three hundred forty eight 
(c) Four hundred eighty three  (d) Eight hundred forty three 

iv. 86 725 can be written as in expanded form:  86 725

(a) 80 000 + 600 + 70 + 25 (b) 80 000 + 6 000 + 70 + 25

(c) 80 000 + 6 000 + 700 + 20 + 5 (d) 80 000 + 60 000 + 7 000 + 200 + 50

v. The place value of the digit 7 in 93 705 is:  7  93 705

(a) 7 (b) 70 (c) 700 (d) 7000

Q.No.2.   Write the following numbers in the expanded from. (2)


(i) 41 902 ____________________________________________________

(ii) 74 311 ____________________________________________________

Q.No.3. Write the following in numerals. (3)


(i) Sixty - seven thousand three 
(ii) Fifty-one thousand five hundred eighty - six 
(iii) Twenty one thousand one hundred five. 
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